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1.Which information is relevant when creating a customer's current storage environment baseline 

documentation as input to a storage solution design?  

A.biggest risk factors  

B.IBM solution differentiators  

C.business benefits provided by the solution  

D.IT organizational structure diagram and description  

Answer:D  

2.What are two benefits of mapping the customers business processes to the storage environment in the 

baseline gathering stage? (Choose two.)  

A.describes costs clearly  

B.provides audit-ready posture  

C.defines steps and sequences  

D.defines customer requirements  

E.identifies critical servers and applications  

Answer:D E  

3.Which statement is true about the technical value of IBM Tivoli Storage Productivity Center?  

A.It allows the user to centrally migrate productive data from slower to faster disks, by using IBM Tivoli 

Storage Productivity Center for Data.  

B.It allows the user to automate and simplify the just-in-time orders of new disk subsystems, by using IBM 

Tivoli Storage Productivity Center for Disk.  

C.It allows the user to automate and simplify the management of a storage infrastructure through a 

centralized suite of tools for disk, data and fabric.  

D.It allows the user to automate and simplify the management of a storage infrastructure through a 

decentralized suite of tools for tape, data and switches.  

Answer:C  

4.Which information must be included in a document describing recommended customer education?  

A.list of students  

B.lab requirements  

C.role-based skills roadmaps  

D.hands-on experience of students  

Answer:C  

5.Given the following backup requirements: the ability to automate cloning of two SAP database servers; 

the ability to provision disk space by using multiple disk systems through a common interface; the ability 

to back up directly to storage area network (SAN) devices Which three products can be recommended to 

address the requirements? (Choose three.)  

A.IBM Tivoli Storage Manager for SANs  

B.IBM Tivoli Storage Manager for Copy Services  

C.IBM Tivoli System Storage SAN Volume Controller  

D.Tivoli Storage Manager for Advance Copy Services  

E.Tivoli Storage Manager for Enterprise Resource Planning  

F.Tivoli Storage Manager for System Backup and Recovery  

Answer:A C E  

6.Which solution begins the process of determining customer assets and data capacities?  

A.IBM Tivoli Storage Productivity Center for Data  
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B.IBM Tivoli Storage Productivity Center for Fabric  

C.IBM Tivoli Storage Productivity Center for Assets  

D.IBM Tivoli Storage Productivity Center for Replication  

Answer:A  

7.Management needs reports on capacity, usage, and performance of their storage area network (SAN) 

disks. IBM Tivoli Storage Productivity Center will provide these reports. Which three items can be 

considered to implement IBM Tivoli Storage Productivity Center? (Choose three.)  

A.the number of clients  

B.the amount of client data  

C.the storage layout on SAN disk  

D.the type of SAN disk being used  

E.the change rate of the client data  

F.the number of SAN switches in the infrastructure  

Answer:A D F  

8.A customer has a requirement to view the physical and logical resources (for example, computers, 

fabrics, and storage subsystems) that exist in the storage environment. Which product and feature can be 

used to fulfill this requirement?  

A.IBM Tivoli Storage Productivity Center Topology Viewer  

B.IBM Tivoli Storage Productivity Center for Fabric Analysis  

C.IBM Tivoli Storage Productivity Center Component Discovery  

D.IBM Tivoli Storage Productivity Center Storage Administration  

Answer:A  

9.In the customer environment, there is a requirement to back up multiple DB2 servers with large 

databases by using IBM Tivoli Storage Manager (Tivoli Storage Manager). Performance analysis shows 

that the backup of a database over the existing local area network cannot be completed in the given 

backup window. What can be installed to solve this performance challenge?  

A.a multi-processor Tivoli Storage Manager server system with SVC disks  

B.Tivoli Storage Manager for SAN (storage agent) on each database server  

C.Tivoli Storage Manager server software with an automated tape library on each database server  

D.a multi-processor Tivoli Storage Manager server system with an automated tape library on the SAN  

Answer:B  

10.Which statement describes the functions that IBM Tivoli Storage Productivity Center data management 

provides?  

A.discovery, monitoring, and chargeback  

B.monitoring, organization, and kickbacks  

C.monitoring, installation, and maintenance  

D.discovery, configuration, and organization  

Answer:A  


